## **BID TABULATION**

 CONTRACT:
 D6D1.POC.009
 PROJECT:
 Washouts & Scour Repairs
 COUNTY:
 Robeson

 WBS NO.:
 15406.1078057, etc.
 ROUTE:
 I-95, NC 71 & NC 710
 DATE:
 9/19/2019

	Site 1 - 15406.1078257 - I-95			Rufus Young	Construction	Baxley Co	orporation	Highland	d Pav ing	Wells Brot	hers Const.	Barnhill Cor	ntracting Co.
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$6,215.00	\$6,215.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
20	Grading	1	LS	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$11,465.00	\$11,465.00	\$5,900.00	\$5,900.00	\$9,750.00	\$9,750.00
30	Traffic Control (include lighting)	1	LS	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00	\$8,000.00	\$8,000.00	\$7,000.00	\$7,000.00	\$12,500.00	\$12,500.00
40	Silt Fence	150	LF	\$4.00	\$600.00	\$2.00	\$300.00	\$3.00	\$450.00	\$6.00	\$900.00	\$5.00	\$750.00
50	Class B Stone (Includes Geotextile Fabric)	50	TON	\$90.00	\$4,500.00	\$60.00	\$3,000.00	\$50.00	\$2,500.00	\$180.00	\$9,000.00	\$150.00	\$7,500.00
60	Matting for Erosion Control (Non-Nylon)	150	SY	\$3.75	\$562.50	\$2.00	\$300.00	\$5.00	\$750.00	\$4.00	\$600.00	\$5.00	\$750.00
70	Seeding and Mulching	1	LS	\$500.00	\$500.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$2,800.00	\$2,800.00	\$2,750.00	\$2,750.00
80	Wattle	50	LF	\$5.00	\$250.00	\$5.00	\$250.00	\$10.00	\$500.00	\$10.00	\$500.00	\$15.00	\$750.00
90	Floating Turbidity Curtain	70	SY	\$20.00	\$1,400.00	\$5.00	\$350.00	\$38.00	\$2,660.00	\$50.00	\$3,500.00	\$30.50	\$2,135.00
	SUBTOTALS				\$24,812.50		\$28,400.00		\$33,540.00		\$36,200.00		\$42,885.00
	Site 2 - 15406.1078267 - NC 71			Rufus Young	Construction	Baxley Corporation		Highland Paving		Wells Brothers Const.		Barnhill Contracting Co.	
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$2,300.00	\$2,300.00	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00
20	Grading	1	LS	\$1.00	\$1.00	\$1.00	\$1.00	\$6,500.00	\$6,500.00	\$3,400.00	\$3,400.00	\$5,000.00	\$5,000.00
30	Traffic Control	1	LS	\$1,900.00	\$1,900.00	\$4,000.00	\$4,000.00	\$1,150.00	\$1,150.00	\$3,400.00	\$3,400.00	\$2,500.00	\$2,500.00
40	Silt Fence	150	LF	\$1.00	\$150.00 **	\$2.00	\$300.00	\$3.00	\$450.00	\$6.00	\$900.00	\$5.00	\$750.00
50	Class B Stone (Includes Geotextile Fabric)	50	TON	\$60.00	\$3,000.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$150.00	\$7,500.00	\$130.00	\$6,500.00
60	Matting for Erosion Control (Non-Nylon)	150	SY	\$1.00	\$150.00	\$2.00	\$300.00	\$5.00	\$750.00	\$4.00	\$600.00	\$5.00	\$750.00
70	Seeding and Mulching	1	LS	\$20.00	\$20.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$1,600.00	\$1,600.00	\$2,750.00	\$2,750.00
80	Wattle	50	LF	\$1.00	\$50.00	\$5.00	\$250.00	\$10.00	\$500.00	\$10.00	\$500.00	\$15.00	\$750.00
90	Floating Turbidity Curtain	70	SY	\$20.00	\$1,400.00	\$5.00	\$350.00	\$38.00	\$2,660.00	\$58.00	\$4,060.00	\$30.50	\$2,135.00
	SUBTOTALS				\$9,671.00 **		\$12,901.00		\$17,810.00		\$25,960.00		\$27,135.00

	Site 3 - 15406.1078279 - NC 71	0		Rufus Young	Construction	Baxley Co	orporation	Highland	d Pav ing	Wells Brot	Wells Brothers Const.		Barnhill Contracting Co.	
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
10	Mobilization	1	LS	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$2,300.00	\$2,300.00	\$3,200.00	\$3,200.00	\$6,000.00	\$6,000.00	
20	Grading	1	LS	\$1.00	\$1.00	\$1.00	\$1.00	\$6,500.00	\$6,500.00	\$3,400.00	\$3,400.00	\$5,000.00	\$5,000.00	
30	Traffic Control	1	LS	\$1,900.00	\$1,900.00	\$4,000.00	\$4,000.00	\$1,150.00	\$1,150.00	\$3,400.00	\$3,400.00	\$2,500.00	\$2,500.00	
40	Silt Fence	100	LF	\$1.00	\$100.00 **	\$2.00	\$200.00	\$3.00	\$300.00 **	\$6.00	\$600.00 **	\$5.00	\$500.00	
50	Class B Stone (Includes Geotextile Fabric)	50	TON	\$60.00	\$3,000.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$170.00	\$8,500.00	\$130.00	\$6,500.00	
60	Matting for Erosion Control (Non-Nylon)	150	SY	\$1.00	\$150.00	\$2.00	\$300.00	\$5.00	\$750.00	\$4.00	\$600.00	\$5.00	\$750.00	
70	Seeding and Mulching	1	LS	\$20.00	\$20.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$2,750.00	\$2,750.00	
80	Wattle	50	LF	\$1.00	\$50.00	\$5.00	\$250.00	\$10.00	\$500.00	\$10.00	\$500.00	\$15.00	\$750.00	
90	Floating Turbidity Curtain	70	SY	\$20.00	\$1,400.00	\$5.00	\$350.00	\$38.00	\$2,660.00	\$58.00	\$4,060.00	\$30.50	\$2,135.00	
	SUBTOTALS				\$9,621.00 **		\$12,801.00		\$17,660.00 **		\$25,760.00 **		\$26,885.00	
Site 4 - 15406.1078280 - I-95				Rufus Young Construction		Baxley Corporation		Highland Paving		Wells Brothers Const.		Barnhill Contracting Co.		
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
10	Mobilization	1	LS	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$6,500.00	\$6,500.00	\$13,500.00	\$13,500.00	\$6,000.00	\$6,000.00	
20	Grading	1	LS	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$13,800.00	\$13,800.00	\$2,000.00	\$2,000.00	\$9,750.00	\$9,750.00	
30	Traffic Control (include lighting)	1	LS	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00	\$8,000.00	\$8,000.00	\$12,500.00	\$12,500.00	\$12,500.00	\$12,500.00	
40	Class II Stone	150	TON	\$60.00	\$9,000.00	\$70.00	\$10,500.00	\$55.00	\$8,250.00	\$110.00	\$16,500.00	\$95.00	\$14,250.00	
50	Silt Fence	100	LF	\$4.00	\$400.00	\$2.00	\$200.00	\$3.00	\$300.00	\$6.00	\$600.00	\$5.00	\$500.00	
60	Class B Stone (Includes Geotextile Fabric)	50	TON	\$90.00	\$4,500.00	\$60.00	\$3,000.00	\$50.00	\$2,500.00	\$200.00	\$10,000.00	\$85.00	\$4,250.00 **	
70	Matting for Erosion Control (Non-Nylon)	150	SY	\$3.75	\$562.50	\$2.00	\$300.00	\$5.00	\$750.00	\$4.00	\$600.00	\$5.00	\$750.00	
80	Seeding and Mulching	1	LS	\$500.00	\$500.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$1,700.00	\$1,700.00	\$2,750.00	\$2,750.00	
90	Wattle	50	LF	\$5.00	\$250.00	\$5.00	\$250.00	\$10.00	\$500.00	\$10.00	\$500.00	\$15.00	\$750.00	
100	Floating Turbidity Curtain	70	SY	\$20.00	\$1,400.00	\$5.00	\$350.00	\$38.00	\$2,660.00	\$60.00	\$4,200.00	\$30.50	\$2,135.00	
	SUBTOTALS				\$33,612.50		\$38,800.00		\$44,260.00		\$62,100.00		\$53,635.00 **	
	TOTALS				\$77,717.00 **		\$92,902.00		\$113,270.00 **		\$150,020.00 **		\$150,540.00 **	

						1		1		•		1	
	Site 1 - 15406.1078257 - I-95			TARA	Group	Columbu	s Utilities	Graham C	o. Land Co.	Browe Co	nstruction	BMCO Construction	
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$12,000.00	\$12,000.00	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.00	\$3,000.00	\$3,000.00	\$7,000.00	\$7,000.00
20	Grading	1	LS	\$18,000.00	\$18,000.00	\$3,500.00	\$3,500.00	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00
30	I raffic Control (Include	1	LS	\$15,000.00	\$15,000.00	\$5,500.00	\$5,500.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00	\$85,000.00	\$85,000.00
40	Silt Fence	150	LF	\$2.50	\$375.00	\$6.00	\$900.00	\$6.00	\$900.00	\$10.00	\$1,500.00	\$4.00	\$600.00
50	Class B Stone (Includes Geotextile Fabric)	50	TON	\$60.00	\$3,000.00	\$100.00	\$5,000.00	\$190.00	\$9,500.00	\$200.00	\$10,000.00	\$110.00	\$5,500.00
60	Matting for Erosion Control (Non-Nylon)	150	SY	\$4.00	\$600.00	\$15.00	\$2,250.00	\$8.00	\$1,200.00	\$20.00	\$3,000.00	\$9.50	\$1,425.00
70	Seeding and Mulching	1	LS	\$200.00	\$200.00	\$4,500.00	\$4,500.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00
80	Wattle	50	LF	\$6.00	\$300.00	\$15.00	\$750.00	\$8.00	\$400.00	\$20.00	\$1,000.00	\$15.00	\$750.00
90	Floating Turbidity Curtain	70	SY	\$15.00	\$1,050.00	\$15.00	\$1,050.00	\$25.00	\$1,750.00	\$50.00	\$3,500.00	\$35.00	\$2,450.00
	SUBTOTALS	<u> </u>	lainiainiainiain		\$50,525.00		\$37,450.00		\$85,250.00		\$95,000.00		\$140,725.00
		TARA Group		Columbus Utilities									
	Site 2 - 15406.1078267 - NC 71			TARA	Group	Columbu	s Utilities	Graham C	o. Land Co.	Browe Co	onstruction	BMCO Co	onstruction
LINE	DESCRIPTION	QNTY.		TARA UNIT COST	Group TOTAL COST	Columbu UNIT COST	S UtilitieS  TOTAL  COST	Graham Co UNIT COST	o. Land Co. TOTAL COST	Browe Co UNIT COST	TOTAL COST	BMCO Co UNIT COST	TOTAL COST
		QNTY.	LS	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	DESCRIPTION  Mobilization	QNTY.	LS	UNIT COST \$12,000.00	TOTAL COST \$12,000.00	UNIT COST \$8,000.00	TOTAL COST \$8,000.00	UNIT COST \$8,000.00	TOTAL COST \$8,000.00	UNIT COST \$3,000.00	TOTAL COST \$3,000.00	UNIT COST \$4,000.00	TOTAL COST \$4,000.00
10	DESCRIPTION  Mobilization  Grading	QNTY.	LS LS	\$12,000.00 \$14,000.00	**TOTAL COST ***12,000.00 ***14,000.00	UNIT COST \$8,000.00 \$3,500.00	**TOTAL COST ************************************	\$8,000.00 \$9,000.00	**TOTAL COST ************************************	\$3,000.00 \$20,000.00	**TOTAL COST **3,000.00 **20,000.00	\$4,000.00 \$15,000.00	**TOTAL COST ***4,000.00 ***15,000.00
10 20 30	DESCRIPTION  Mobilization  Grading  Traffic Control	QNTY.  1 1 1	LS LS LS	\$12,000.00 \$14,000.00 \$10,000.00	**TOTAL COST \$12,000.00 \$14,000.00 \$10,000.00	UNIT COST \$8,000.00 \$3,500.00	TOTAL COST \$8,000.00 \$3,500.00	\$8,000.00 \$9,000.00 \$8,000.00	TOTAL COST \$8,000.00 \$9,000.00 \$8,000.00	\$3,000.00 \$20,000.00 \$20,000.00	TOTAL COST \$3,000.00 \$20,000.00 \$20,000.00	\$4,000.00 \$15,000.00 \$45,000.00	**TOTAL COST
10 20 30 40	DESCRIPTION  Mobilization Grading Traffic Control Silt Fence Class B Stone	1 1 1 1 150	LS LS LS	\$12,000.00 \$14,000.00 \$10,000.00 \$2.50	\$12,000.00 \$14,000.00 \$14,000.00 \$375.00	\$8,000.00 \$3,500.00 \$3,500.00 \$6.00	TOTAL COST \$8,000.00 \$3,500.00 \$3,500.00 \$900.00	\$8,000.00 \$9,000.00 \$8,000.00 \$6.00	TOTAL COST \$8,000.00 \$9,000.00 \$8,000.00 \$900.00	\$3,000.00 \$20,000.00 \$20,000.00 \$10.00	TOTAL COST \$3,000.00 \$20,000.00 \$20,000.00 \$1,500.00	UNIT COST \$4,000.00 \$15,000.00 \$45,000.00 \$4.00	TOTAL COST \$4,000.00 \$15,000.00 \$45,000.00 \$600.00
10 20 30 40 50	DESCRIPTION  Mobilization Grading Traffic Control Silt Fence Class B Stone (Includes Geotextile Fabric) Matting for Erosion Control	QNTY.  1 1 1 1 50 50	LS LS LS LF	\$12,000.00 \$14,000.00 \$10,000.00 \$2.50 \$60.00	**TOTAL COST **12,000.00 **14,000.00 **10,000.00 **375.00 **3,000.00	\$8,000.00 \$3,500.00 \$3,500.00 \$6.00	TOTAL COST \$8,000.00 \$3,500.00 \$3,500.00 \$900.00	\$8,000.00 \$9,000.00 \$8,000.00 \$6.00 \$99.00	TOTAL COST \$8,000.00 \$9,000.00 \$8,000.00 \$900.00 \$4,950.00	\$3,000.00 \$20,000.00 \$20,000.00 \$10.00 \$200.00	TOTAL COST \$3,000.00 \$20,000.00 \$20,000.00 \$1,500.00 \$10,000.00	UNIT COST \$4,000.00 \$15,000.00 \$45,000.00 \$4.00 \$85.00	TOTAL COST \$4,000.00 \$15,000.00 \$45,000.00 \$600.00 \$4,250.00
10 20 30 40 50	Mobilization Grading Traffic Control Silt Fence Class B Stone (Includes Geotextile Fabric) Matting for Erosion Control (Non-Nylon)	1 1 1 1 150 50 150	LS LS LS LF TON	\$12,000.00 \$14,000.00 \$14,000.00 \$2.50 \$60.00 \$4.00	\$12,000.00 \$14,000.00 \$14,000.00 \$375.00 \$3,000.00 \$600.00	\$8,000.00 \$3,500.00 \$3,500.00 \$6.00 \$100.00	TOTAL COST  \$8,000.00 \$3,500.00 \$3,500.00 \$900.00 \$5,000.00	\$8,000.00 \$9,000.00 \$8,000.00 \$6.00 \$99.00	TOTAL COST  \$8,000.00 \$9,000.00 \$8,000.00 \$900.00 \$4,950.00 \$1,200.00	\$3,000.00 \$20,000.00 \$10.00 \$200.00 \$200.00	**TOTAL COST **3,000.00 **20,000.00 **20,000.00 **1,500.00 **10,000.00 **3,000.00	\$4,000.00 \$15,000.00 \$45,000.00 \$4.00 \$85.00	**TOTAL COST
10 20 30 40 50 60	DESCRIPTION  Mobilization Grading Traffic Control Silt Fence Class B Stone (Includes Geotextile Fabric) Matting for Erosion Control (Non-Nylon) Seeding and Mulching	9NTY.  1 1 1 1 150 50 150 1 70	LS LS LF TON SY LS LF SY	\$12,000.00 \$14,000.00 \$10,000.00 \$2.50 \$60.00 \$4.00	\$12,000.00 \$14,000.00 \$14,000.00 \$375.00 \$3,000.00 \$600.00	\$8,000.00 \$3,500.00 \$3,500.00 \$6.00 \$100.00 \$2,800.00	TOTAL COST  \$8,000.00 \$3,500.00 \$3,500.00 \$900.00 \$5,000.00 \$2,250.00 \$2,800.00	\$8,000.00 \$9,000.00 \$8,000.00 \$6.00 \$99.00 \$1,500.00	TOTAL COST  \$8,000.00 \$9,000.00 \$8,000.00 \$900.00 \$1,200.00 \$1,500.00	\$3,000.00 \$20,000.00 \$20,000.00 \$10.00 \$200.00 \$200.00 \$3,000.00	TOTAL COST  \$3,000.00 \$20,000.00 \$20,000.00 \$1,500.00 \$10,000.00 \$3,000.00	UNIT COST  \$4,000.00 \$15,000.00 \$45,000.00 \$4.00 \$85.00 \$8.50 \$5,000.00	TOTAL COST  \$4,000.00 \$15,000.00 \$45,000.00 \$600.00 \$1,275.00 \$5,000.00

	Site 3 - 15406.1078279 - NC 710		TARA	Group	Columbus	s Utilities	Graham Co. Land Co.		Browe Construction		BMCO Construction		
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$12,000.00	\$12,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00
20	Grading	1	LS	\$14,000.00	\$14,000.00	\$1,500.00	\$1,500.00	\$9,000.00	\$9,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00
30	Traffic Control	1	LS	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00	\$8,000.00	\$8,000.00	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.00
40	Silt Fence	100	LF	\$2.50	\$250.00	\$6.00	\$600.00	\$6.00	\$600.00	\$10.00	\$1,000.00	\$4.00	\$400.00
50	Class B Stone (Includes Geotextile Fabric)	50	TON	\$60.00	\$3,000.00	\$100.00	\$5,000.00	\$98.00	\$4,900.00	\$200.00	\$10,000.00	\$85.00	\$4,250.00
60	Matting for Erosion Control (Non-Nylon)	150	SY	\$4.00	\$600.00	\$15.00	\$2,250.00	\$8.00	\$1,200.00	\$20.00	\$3,000.00	\$8.50	\$1,275.00
70	Seeding and Mulching	1	LS	\$200.00	\$200.00	\$2,800.00	\$2,800.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
80	Wattle	50	LF	\$6.00	\$300.00	\$15.00	\$750.00	\$8.00	\$400.00	\$20.00	\$1,000.00	\$15.00	\$750.00
90	Floating Turbidity Curtain	70	SY	\$15.00	\$1,050.00	\$15.00	\$1,050.00	\$25.00	\$1,750.00	\$50.00	\$3,500.00	\$25.00	\$1,750.00
	SUBTOTALS				\$41,400.00		\$25,450.00		\$35,350.00		\$64,500.00		\$77,425.00
	Site 4 - 15406.1078280 - I-95			TARA Group		Columbus Utilities		Graham Co. Land Co.		Browe Construction		BMCO Construction	
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00
20	Grading	1	LS	\$18,000.00	\$18,000.00	\$3,500.00	\$3,500.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
30	Traffic Control (Include	1	LS	\$15,000.00	\$15,000.00	\$5,500.00	\$5,500.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$85,000.00	\$85,000.00
40	Class II Stone	150	TON	\$90.00	\$13,500.00	\$120.00	\$18,000.00	\$190.00	\$28,500.00	\$200.00	\$30,000.00	\$140.00	\$21,000.00
50	Silt Fence	100	LF	\$2.50	\$250.00	\$6.00	\$600.00	\$6.00	\$600.00	\$10.00	\$1,000.00	\$4.00	\$400.00
60	Class B Stone (Includes Geotextile Fabric)	50	TON	\$60.00	\$3,000.00	\$100.00	\$5,000.00	\$190.00	\$9,500.00	\$200.00	\$10,000.00	\$110.00	\$5,500.00
70	Matting for Erosion Control (Non-Nylon)	150	SY	\$4.00	\$600.00	\$15.00	\$2,250.00	\$8.00	\$1,200.00	\$20.00	\$3,000.00	\$8.50	\$1,275.00
80	Seeding and Mulching	1	LS	\$200.00	\$200.00	\$6,500.00	\$6,500.00	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00
90	Wattle	50	LF	\$6.00	\$300.00	\$15.00	\$750.00	\$8.00	\$400.00	\$20.00	\$1,000.00	\$15.00	\$750.00
100	Floating Turbidity Curtain	70	SY	\$15.00	\$1,050.00	\$15.00	\$1,050.00	\$25.00	\$1,750.00	\$50.00	\$3,500.00	\$35.00	\$2,450.00
	SUBTOTALS				\$63,900.00		\$63,150.00		\$113,450.00		\$115,500.00		\$162,375.00
	TOTALS				\$197,350.00		\$153,800.00 **		\$269,750.00		\$340,000.00		\$458,150.00

<sup>\*\*</sup> Corrected Upon Bid Review